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Please check that this question paper contains 8 printed pages and 2 pages of maps.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the serial number of the question before attempting it.

e 15 minute time has been a]lotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the student will read the question
paper only and will not write any answer on the answer script during this period.
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General Instructions :
(i)  There are 26 questions in all.
(ii) All questions are compulsory.
(iii) Marks of each question are indicated against it.

(iv) Question numbers 1 to 10 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 20 words.

(v)  Question numbers 11 to 20 are short answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80 words.

(vi) Question numbers 21 to 25 are long answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.
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(vii) Question number 26 is related to identification or locating and labelling of
geographical features on maps.

(viii) Outline maps of the World and India provided to you must be attached within your
answer book.

(ix) Use of templates or stencils for drawing outline maps, is allowed.
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(i) T T FTGET26 8 |

(ii) @IV AT E |

(iii) Hed® 999 & QA S RFE |

(iv) ¥¥7 G 1T 10 TF 37 o75-37 aTet 997 & 31 799 997 &7 1 % & | 3749 T 7 097
&7 I 20 V151 & 3 7 7@l 817 =TT |

(v) WTGEr 113 20 7% Tg-3R arel 7o & S Jeie 797 & 3 37% & | 79 T Hed® 0o &1
IR 80 V=T T 37 7 781 &l =T |

(vi) T QAT 21 @ 25 T cia-30¢ et 79 & 377 JedF 59T & 5 3% &1 99 G Jedh 7T
I 150 vIs5T § 3Aferes &7 77 8l =i |

(vii) ¥¥7 &7 26, A= R {U T Siifes weqon s e an | fTam SR w13 9
et g |

(viii) TER 37X R % 53 79 3G@T-T171 1 3771 STR-GIAHT 7 ST T8 Hrg |

(ix) IG-AMAfTE T & fore qiet a1 Rfen 3 yarm 1 a7 3 T g |

What is the importance of secondary activities in the world ? 1
TR  facftae franett s R Tea & 2
Name the terminal stations of Australian Trans-Continental Railway. tla=1

FArforars IR FeEdE ot o e faRl & ReEl & 1 FarE |

Name the state of India having the highest density of population and also mention its
density. Va+l2=1

AR & Galyeh THEEAT 99cdl Tt T59 &1 79 Fa720 T 39 g4 ot fafigw |

Which state of India has the lowest literacy rate ? Mention its literacy rate also. Y2 +% =1
TR % T T T WIERAT ST W FH & ? TR e &2 Hf qaqrsy |

Name the largest metropolitan city of Uttar Pradesh. Write its population according
to Census 2001. n+a=1

SW WSV % TIH §F HEHR N A TRy | 2001 H ST % AR TR STAEE]
fafay |

Name any two sub-sections of cotton textile industry in the world. V+Va=1

TR § eft o e % el &t SUeEt % A1 Sy |
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How is the cropping intensity calculated in India ? 1
RA H e Tl i 0T 6 FHR i STt & 2

What was the main objective to implement the Fourth Five Year Plan for the people
in drought prone areas ? 1

@ FE & | @ % o St deasta FisT S o] S 1 e SEvd 99T 4T ?

Mention any two cultural activities responsible for water pollution in India. YVa+la=1

R | 5761 UEHUT o 7T STRETS T8l &t WIGhIeh TTaadl sl Ieeid hifeTg |

Which one of the Indian seaport provides port facilities to its land-locked
neighbouring countries ? Name any one such country. Ya+la=1

AR TeT | | I G TR T SFA-55 TSIAT 901 1 o Gaumd U i & ? 0 Tt
TS 297 I ATH 13T |

Mention any six advantages of Oceanic routes. 6x12=3
HETETRIG AT 3 foheal : ATl T Sooid HIWY |

Which are the two components of population growth in India ? Describe the main
feature of each component. 1+2=3

WRA A STEEAT g % qF HEF FIH 4 ¢ ? TG 9 & W 0] I a0 HT |

State any six characteristics of road transport in India. 6x12=3

TRA o TS YRae i (el B: [aeiuarai i Seoig $ifeu |

Explain the concept of environmental determinism with suitable examples. 3x1=3

TGeRug e % faeR i Suge IERv |igd W ST |

Explain how the difference in national resources becomes one of the bases of
international trade. Ix1=3

T AT | =T foh TR ST SATIR o fafee= SRl § 9 U €, T HiT |

Which is the most effective and advanced personal communication system in India ?
Explain any four characteristic of it. 1+2=3

Wﬁ@%w@ﬁwéﬁmWMW%?wwwﬁmﬁ
! T FHIY |

“Outsourcing has resulted in opening up a large number of job opportunities in
several countries.” Analyse the statement with three suitable examples. Ix1=3
“rrEia % IRUTEREEYT HE 3901 H T Y& § IR & TR G & 17 39 F9 & 4
UG SETEX |igd foversur ST |

“Land degradation caused by human made processes are more harmful than natural
processes in India.” Analyse the statement with suitable examples. 3x1=3
“ARA H AFEE [RATRAal % HRUT g3 i T, Wiptae Whharel R gU 9y
Te=AeRtoT Y qorT | 31T EIHehRe € I 39 U ol SSTeUN Qied faversur iU |

3 [P.T.O.



19. Study the map given below and answer the questions that follow : 1+1+1=3

Note:

e

64/1/1

]
km333 0 333 666km
R

GREENLAND

(19.1) Name the trans-continental railway shown in the given map.
(19.2) Name the terminal stations of this railway line.

(19.3) Mention any two characteristics of this railway line.

FR f§T 7T gt 7 3T it SR FEfaiad TeE % ST ST ;
(19.1) WA @ T IR FeTE 9T I9TT &1 A1 T2 |
(19.2) =9 N & 2w FaRT & LMl % AT a0 |

(19.3) TH {THNT 1 HIE qF favivan 92w |
The following question is for the BLIND CANDIDATES only, in lieu of Q. No. 19 :

Name the trans-continental railway of North America constructed in 1886. Write
any two characteristics of it.

frafafed oo Faa gfeds whenfaat &

1+2=3
for v g §=m 19 F ™H W ¥

T 1886 # Y T IR STARHN % TR HETEIE LoHnT 1 A7 Ty | T B

¢ fefEw |



20. Study the given map and answer the question that follows : 12+ 1Y%=
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Name the northern most, southern most and western most metropolitan cities of the
country and also name the states to which they belong.

64/1/1 5

3

[P.T.O.



ﬁ%ﬁqmmﬁawaﬁwm&qaﬂtﬁmﬁf@ﬁmmwfﬁﬁa@

I 1

63°1- 72’ 76° 80° 34‘ ss“ 92° $8°
b [,-"4"" '\ T .
\, TR 8T, 2001
=320 aifew é .
TR
A e
/-, J g (ﬁ!ﬁﬁ) / L
-28° - —
> / V - 3 ’-
‘-"' o ; R \ % g o o 7 9 r'ﬁ
7 W@ @ qET - Seia, '\'"{.-'....A — v
L\ ; TR CO B de T ’
JWO @ Om L ’
AR, & FTATR ‘J o
v a7 A ] 24°
el ‘\__Imq 0 s i f J _____ g v =

20 .
i 15 %;
; : 10 T gged
: 5 g

stea st P @Y T

(@),
- 893 o 0 200 400 @;',oﬁ,'.:i'[, i .:‘,‘éj .
fx TR %

L 84° 88° 9°%  Q
&wmm mﬁvﬁwmqﬁﬂﬁm%wamx IRT/TERATT T
A9 i FATRT |

Note: The following question is for the BLIND CANDIDATES only. in lieu of
Q. No. 20.
Name any three states of India each of which has only one metropolitan city.
Also name those metropolitan cities. 12+ 1%2=3

Ae:  fAfaRad uv hae it adenfaat & U n. 9. 20 F A W E |
AR & FFgl di= T4l & A 9130, 570 9 7 § U6 FeTR & | 39 HeTRI & A off
fafaw |

64/1/1 6



21. Describe in brief the different trends of population growth in the world from early
period to the present day. axl=S5

mﬁm@mqﬁﬂﬁﬁﬁmwﬁﬁmaﬁﬁmﬁﬁﬁmwwmﬁmﬁﬁﬁﬂm

22. Classify minerals into two groups on the basis of chemical and physical properties
and give one example of mineral of each group. Mention any two features of the
three mineral belts of India. 2+3=35

THTEAE 3R S O & SR T Gl St g1 it § Sriea ST a1 Teds o & @i
T U IZEA0T SIAT | R I A1 @r7et Qfedt st foret g1-at fareraaratl &1 Soord Sty |

23.  “There is low yield per acre but high yield per person in the interior parts of semi-
arid lands of the mid latitudes in the world.” Support the statement with suitable
examples. 5

“FUR | T A 3 SRR STH-Y[ U9 | Wi TH SeqEH 9 &Il €, Ui Wit At
IR U BT & | TH FF i SUFFRT SIERVN Fied I HRT |

24. Explain any five major environmental problems related to urban settlements in
developing countries. Sx1=5

Torerraeter w1t & T afeat & Tt = ae TE vaieRvis Teenst F W ST |

25. How the small size of land holdings and degradation of cultivable land are the
two major problems of Indian agriculture ? Explain both these problems with
examples. 2% +2V2=5

DI FH ST 3R F AT i 1 =R TR F Fi g7 7E T FE yHR E ? .
T FHETS i IV Fied T FRT |

26. (26.1) In the given political outline map of the World, the following four features
are shown : 4xV¥2=2

(A) The country having the lowest population growth rate in Africa.

(B) The important country of commercial livestock rearing.

(C) The important mega city of Pakistan.

(D) The important seaport of New Zealand.

Identify these features and write their correct names on the lines marked
against each feature.

(26.2) In the given political outline map of India, locate and label the following
with appropriate symbols : 3x1=3
(i) The State having the highest percentage of urban population.

(i) An oil refinery located in Bihar.
(iii) The major seaport located in Kerala.
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(26.1)

(26.2)

Note :

(26.1)
(26.2)

(26.3)
(26.4)
(26.5)

(26.1)
(26.2)

(26.3)
(26.4)
(26.5)

HOR % 0 10 Teifaes Yar-amtas | frafofad aw s fkam e
(A) TR T HaR FH TEE g <X AT 397 |

(B) afurfodeh qe[e UIe aTell Ush Hewaqor 397 |

(C) TITEhE T U Hewaqul 47 7K |

(D) SITATE 1 Toh HEwqor Tt o |

T IO Sl Ug T HRU 3R T3S TeI07 & FE= et T8 @M W 37 el 91
fafaw |

few T WA % TETaE W@t § freafatea st Rt swge T oam
feamen ik am fofan :

(i) TEis TR STEE & ST Jre T |

(i) foer = o der aRewoTeTeT |

(iii) YT ¥ FeIe v e R w |

The following questions are for the BLIND CANDIDATES only. in Lieu of
Q. No. 26. x1=

Name the country having the lowest population growth rate in Africa.

N
¥ [

Which is the most important country known for commercial livestock
rearing in South America ?

Which State of India has the highest percentage of urban population ?
Name the oil refinery located in Bihar.

Name the major seaport located in Kerala.

TTeAREd U9 Aol GIeE qRteteral & foTg Woe 9 26 F A W E -

TR H Ya¥ HH STHEEAT Jig T 16t 397 M A9 FaTsy |
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1. Based upon Survey of India map with the permission of the Surveyor General of India, © g0t of india Copyrigh
2.The territorial waters of india extend into the sea o a distance of twelve nautical miles m i from the appropriats b

. 3. The Extermal Boundary and coast-ine of India shown on this map agres with the Record / Master Copy oertified by the Survey of india. Dehra Dun.
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Map for Q. No. 26.2

¥ 9. 26.2 F o qfas

Outline Map of India (Political)
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